E-Revo: TQi 2.4GHz Radio (Model 5603) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

\ Bearings & Bushings

4609 Ball bearings (5x10x4mm) (2) (metal shielded, for clutch bell). $8.00
4611 Ball bearings (5x11x4mm) (2) (metal shielded, for clutch bell). $6.00
5119 Ball bearings, blue rubber sealed (10x15x4mMmM) (2).......ccccocvvrrvuneenn $7.00
5120 Ball bearings, blue rubber sealed (12x18x4mm) (2) . $8.00
5115 Ball bearings, blue rubber sealed (5x10x4mm) (2) ... $3.50
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2).... $3.50
5114 Ball bearings, blue rubber sealed (5x8x2.5mm) (2)... $4.00
5117 Ball bearings, blue rubber sealed (6x12x4mm) (2).... $4.00
5180 Ball bearings, blue rubber sealed (6x13x5mm) (2).... $4.00
5118 Ball bearings, blue rubber sealed (8X16X5mMm) (2) ........ccccocvvrevunen. $6.00
5121 Bearing, needle roller (6x10x8mm) (2).

2545 Bushings (plastic) (5x8x2.5mm) (4

Body & Accessories
1926 Antenna caps, vinyl (2)/ antenna spool .
5526 Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools...
5526R Antenna crimp nut, aluminum (red-anodized)/ antenna nut
tools....
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)
Body clips (12) (standard size)
Body clips, heavy duty (12).........cccocvvrviinennnn.
Body mounts, front & rear/ body mount posts, front & rear/
2.5x18mm screw pins (4)/ 4x10mm BCS (1)...
Body washers, foam adhesive (10).... .
Body, E-Revo (clear, requires painting)/window, grill, lights decal

1726
1834
3934
5314

4915
5611
5611X Body, E-Revo, ProGraphix (replacement for painted body.
Graphics are painted- requires paint and final color application)/
window, grill, lights decal sheet
Decal sheet, racing sponsors
Decal sheets, E-REVO .......ccooiiviiiiieeceee et
Official Team Traxxas racing decal set (flag logo/ 6-color) .
Tires, rubber (2) (fits Traxxas wheelie bar wheels)
Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4).......
Wheelie bar mount (1)(fits 1/10 scale Revo trucks) .
Wheelie bar, assembled (fits all 1/10th scale Revo trucks)
Wheels (4)/ Axles (2), for wheelie bar .........ccccceviiiiiininninen.
Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2)
Wheels, aluminum (red-anodized) (2)/ 5x8mm ball
bearings (4)/ axles (2)/ rubber tires (2)
Wing mount, center / wing washers (for Revo)
5411 Wing mount, Revo (complete minus wing, part #5412 or other)......
5446 Wing, Revo (black)/ decal sheet
5446G Wing, Revo (Exo-Carbon finish)/ decal sheet
5412 Wing, Revo (white)/ decal sheet.............ocooiviiiiiiiiiic

| Bumpers & Skidplates

5335A Bumper, front (chrome)/ bumper mount, front/ 4x10mm
BCS (2)/ 3x25mm BCS (2)

2514
5613
9950
5185
4974
5473
5472
4976
5186A

5186

5413 $5.00

$10.00

. $14.00
$20.00

5335 Bumper, front/ bumper mount,
3BX25MM BCS (2) .ovvivieiieiieiieierienie sttt $7.50
5336A Bumper, rear (chrome)/ bumper mount, rear/ 4x10mm
BCS (2)/ 3X25MM BCS (2)..c.ecviiiieiiiiiiiiiieciieiseeieeseie e $7.50
5336 Bumper, rear/ bumper mount, rear/ 4x10mm BCS (2)/ 3x25mm
BCS (2). ittt
5335X Bumpers, front and rear (black chrome)
5315 Guards, steering servo (2)
5337 Skid plate set, front (2 pieces, plastic)/ skid plate, rear (1 piece,
plastic) .
5637 Skidplate, transmission, nylon (black)/ cover

Chassis & Attachments
Body mounts, front & rear/ body mount posts, front & rear/

2.5x18mm screw pins (4)/ 4x10Mm BCS (1) ...ccccovvverieiieiieiieniiens
Box, receiver (sealed)/ foam pad/ silicone grease/ 3x8mm
BCS (2)/ 2.5x8mm CS (2)/ 3x6mm BCS (2)......ccccevvvriniiiiiniieiicins
Bulkhead tie bars, front & rear (blue-anodized aluminum)...............
Bulkhead tie bars, front & rear (red-anodized aluminum).
Bulkhead, front (L&R halves)/ diff retainer/ 4x14mm BCS (4) .
Bulkhead, rear (L&R halves)/ diff retainer, rear/ 4x14mm BCS (2).. $15.00
Chassis, E-Revo & Summit/ foam pad..........c.ccoeeeieeieniinniicinennn. $28.00
Cover plates and seals, forward only conversion (Revo) (Optidrive
blank-out plate, Optidrive sensor cover, shift fork cover).................
Door, battery compartment (1) (fits right or left side)....
Guards, steering servo (2)

5314

5624

5323
5323R
5330
5329
5622X
5157

5627
5315

For assistance call 1-888-TRAXXAS, or e-mail Traxxas anytime at support@Traxxas.com

5629

5625
5317

5337

5637
5185
5628

4974
5473
5472
4976
5186A

5186

5119
5117
5118
3978

5614
5136X
5382X
5380
5130
5135
5136
5039
5137

5379X
5381X

5334R

5459

5153R

5153

5451X

5154

5650R

5451R

5150
5450
5650
4955
5129

5145
5454
5166

5452

Retainer clip, battery (1)/ front clip (1) /rear clip (1)/ foam

spacer (1) (for one battery compartment)...........cccoceeverieiiieiiennens $3.00
Seal kit, receiver box (includes o-ring, seals, and silicone grease).. $4.00
Shock mounts (front & rear)/ wire clip (1)/ chassis wire clips (4)/

3x32mm CS (4)/ 3X6MM BCS (1) ..vucvevvrerrerereeeeseserseeeseesses s sensnes 6.00

Skid plate set, front (2 pieces, plastic)/ skid plate, rear (1 piece,
plastic)
Skidplate, transmission, nylon (black)/ cover
Tires, rubber (2) (fits Traxxas wheelie bar wheels)
Vent, battery compartment (includes latch) (1 pair, fits left or right

SIR) 1ttt $3.50
Wheelie bar arm (1)/ connector (1)/ 3x12 SS (hex drive) (4)....... $10.00
Wheelie bar mount (1)(fits 1/10 scale Revo trucks) ........cccccec... $7.00
Wheelie bar, assembled (fits all 1/10th scale Revo trucks) . $20.00
Wheels (4)/ Axles (2), for Maxx wheelie bar .........cccccooveiniiene $4.00
Wheels, aluminum (blue-anodized) (2)/ 5x8mm ball

bearings (4)/ axles (2)/ rubber tires (2)......cccoeveerieieniieeniieenieee $19.95

Wheels, aluminum (red-anodized) (2)/ 5x8mm ball
bearings (4)/ axles (2)/ rubber tires (2

Differential Components
Ball bearings, blue rubber sealed (10x15x4mm) (2)
Ball bearings, blue rubber sealed (6x12x4mm) (2)
Ball bearings, blue rubber sealed (8x16x5mm) (2)
Carrier, differential (heavy duty)/ x-ring gaskets (2)/ ring gear

gasket/ bushings (2)/ 6X10X0.5 TW .....cverierierienieiienieieesieereeneeeeieenes $4.25
Differential kit, center (complete for E-Revo & E-Maxx (model
3905)) (assembled with 500K oil) (use only with single speed
TFANSIMISSION) .ot $39.00
Differential oil kit (1 each: 10K, 30K, 50K weights).......ccc.cccveenne $21.00

Gear set, differential (output gears (2)/ spider gears (2)/ spider
gear shaft/ diff carrier support)

Housings, differential (front & rear) (1) ......

Oil, differential (100K weight) (.7 0z (20cc)) $8.00
Qil, differential (10K weight)................... $7.50
Oil, differential (30K weight) .. $7.50

Oil, differential (500K weight).
Qil, differential (50K weight)
Ring gear, differential/ pinion gear, differential
Spool, differential (eliminates differential. Use off-road

uires #5379X ring gear

Axle carriers, left & right (1 each) (use with larger 6x13mm ball

bearings)/ bearing adapters (for 6x12mm ball bearings) (2)/ dust

DOOL FEAINETS (4) .eovveviiiiie ettt $10.00
Boots, driveshaft (rubber) (2) ........ccooiiiiiiiiiiee e $2.50

Drive cups, inner (2) Revo (steel constant-velocity

driveshafts)/screw pin, M4/15(2) (for use only with 5333R
adjustable wheelbase rear suspension arms)
Drive cups, inner (2) Revo/Maxx (steel constant-velocity

driveshafts)/screw pin, M4A/15(2) ......ccccoveiieiieiiiiieiieieee e $8.00
Driveshaft assembly (1), left or right (fully assembled, ready to

install)/ 4x15mm SCrew Pin (1).....cccvieeiiiiieiieiie e $12.00
Driveshaft, steel constant-velocity, Revo/Maxx (shaft only,

128.5mm)/ drive CUpP Pin (1) coooveeeriereieiene e $10.00
Driveshafts, center E-Revo (steel constant-velocity) front (1)/

rear (1) (assembled with inner and outer dust boots, for E-

REVO & SUMMIL) 1.ttt $45.00

Driveshafts, Revo/Maxx (steel constant-velocity)(assembled
w/inner & outer dust boots) (for models w/sealed pivot ball
suspension & 3.8" wheels)(4)
E-clips, 1.5mm (24)
Half shaft set, left or right (plastic parts only) (internal splined half
shaft/ external splined half shaft/ rubber boot) (assembled with
glued boot) (2 aSSEMDBIIES) .......coiiiiiiiiiiiiceee e
Half shafts, center (internal splined (3)/ external

splined (2)) (plastic parts only)
Pins, axle (2.5x12mm) (4)
Rebuild kit (for Revo/Maxx steel constant-velocity
driveshafts) (includes pins, dustboots, & lube for 2
driveshafts assemblies)
Screw pin, 4x15mm (6) ...
Stub axle (Steel) (2)....couviiiiiiiiii
Stub axle, (1)/ axle sleeve (1) Revo/Maxx (steel constant-

velocity driveshaft) ... $7.50
U-joints, driveshaft (carrier (4)/ 4.5mm cross pin (4)/ 3mm cross
pin (4)/ e-clips (20)) (metal parts for 2 driveshafts)............ccccceeeeenns $10.00

REV. 130403 1515



Page 2 E-Revo: TQi 2.4GHz Radio (Model 5603) Parts List

4954R Wheel hubs, heX (StEEI) .......coeeviririeiieiieeeee e $3.00
4954X Wheel hubs, hex, 6061-T6 aluminum (blue) (4)/ axle

PINS (2.5XL10MM) (4) 1eeeiiieiieeie et $20.00
5353G Wheel hubs, splined, 17mm (green-anodized) (4)/ wheel nuts,

splined, 17mm (blue-anodized) (4)/ screw pins, 4x13mm (with

TArEAdIOCK) (4) c.uviieiiiiiiei et $25.00
5353A Wheel nuts, splined, 17mm (green-anodized) (4) . .. $10.00
5458X Yokes, differential and transmission (2)/ 4x15mm screw pins (2 $4.00

Yokes, stub axle (2)/ pi

Front Suspension
Axle carriers, left & right (1 each) (use with larger 6x13mm ball
bearings)/ bearing adapters (for 6x12mm ball bearings) (2)/ dust
boot retainers (4)
Bulkhead tie bars, front & rear (blue-anodized aluminum)...............
Bulkhead tie bars, front & rear (red-anodized aluminum).
Bulkhead, front (L&R halves)/ diff retainer/ 4x14mm BCS (4)
Caster spacers (4)/ ShiMS (4).....ccviiiiiiieeee e
Insert, threaded steel (replacement inserts for
Tubes) (includes (1) left and (1) right threaded insert)...............
Linkage, front sway bar (Revo/Slayer) (3x70mm
turnbuckle) (2) (assembled with rod ends, hollow balls and
DAl STUA)...eiiiiiiieiie e
Pivot ball caps (4)/ dust boots, rubber (4)/ dust plugs, rubber (4)/
dust boot retainers, black (4), blue (4) (2 pkgs. req. to complete

5323
5323R
5330
5134
5339

5495

5378X

4933

4933X Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball

CaAP DUSNINGS (4) ceeeiieiieiie e $20.00
5319X Push rod (aluminum) (assembled with rod ends) (2) (red) (use

with #5359 progressive 3 roCKers)......ccccocveiiieiiiicniiecneeen $12.50
5318X Push rod (aluminum) (assembled with rod ends) (2) (use with

long travel or #5357 progressive-1 rockers) ......cccocceveiiiieennnes $12.50
5319 Push rod (steel) (assembled with rod ends) (2) (black) (use

with #5359 progressive 3 roCKers).......cccocvveiiiiiiiieniieeniee e, $7.00

5318 Push rod (steel) (assembled with rod ends) (2) (use with long

travel or #5357 progressive-1 rockers)

5354X Rocker arm post (aluminum) (4)..
5354 Rocker arm post (steel) (2)
5356 Rocker arm set, long travel (120-T) (use with #5318 or #5318X

pushrod)
5357 Rocker arm set, progressive-1 (90-T) (use with #5318 or

H#5318X PUSHIOA) .t $8.00
5358 Rocker arm set, progressive-2 (90-T)/ spacers (red aluminum) (8). $11.00
5359 Rocker arm set, progressive-3 (90-T) (requires pushrods part

#5319 0F 5319X)...ciiiiiiiiiiiiieii e $8.00
5133A Spacer, pushrod (aluminum, blue) (use with 5318 or 5318X

pushrod and 5358 progressive 2 rockers) (8)..........cccuvververieereennn. $5.00
5133 Spacer, pushrod (aluminum, red) (use with 5318 or 5318X

pushrod and 5358 progressive 2 rockers) (8).......ccccceevvrvvirnennn. $5.00
5332 Suspension arm upper (1)/ suspension arm lower (1) (left front)..... $7.50
5331 Suspension arms upper (1)/ suspension arm lower (1) (right front).  $7.50
5321 Suspension pin set (front or rear, hardened steel), 3x20mm (4),

3x40mm (2) .. $4.75
5498 Sway bar Kkit, Revo (front and rear) (|nc|udes thick and thin

sway bars and adjustable linkage) (requires part #5411 to

install rear BUMPEr) ....ooviiiiiii s $30.00
5496 Sway bar mounts (front & rear) (Revo)/ sway bar wires (front

& rear) (4)/ drill guide/ spacers
5338 Toe link, 5.0mm steel (front or rear) (2).

5338A Toe links, Revo (Tubes 7075-T6 aluminum, black)(128mm, fits
front or rear) (2)/ rod ends, rear (4)/ rod ends, front (4)/

WIEENCH (1) 1intiiiiiieiieieeie ettt $25.00
5338R Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum,

stronger than titanium) (128mm, fits front or rear) (2)/ rod

ends, rear (4)/ rod ends, front (4)/ aluminum wrench (1)............ $25.00

\ Hardware

Body clip (mounting clip), angled, 90-degrees (10)...
Body clips (12) (standard size)
Body clips, heavy duty (12)
Collars, screw (2)/ set screws, 3mm (2)
E-clips, 1.5mm (24)
Flat wrench, 5mm (blue-anodized aluminum)
Flat wrench, 8mm (blue-anodized aluminum)
Glow plug wrench (universal wrench)
Head screws, 3x15mm cap-head machine (hex drive) (6) (TRX

3935
1834
3934
3182
5150
5477
5478
3980
2586

5476X
5475
5158
2745
4147X

Hex wrenches; 1.5mm, 2mm, 2.5mm, 3mm, 2.5 ball .
MUItI-tOO] (PIASHIC). ...
Nuts, 2.5mm nylon locking (12)
Nuts, 3mm nylon locking (12)
Nuts, 5mm flanged nylon locking (alumlnum blue-

ANOAIZEA) (4)ieiiii et

5147X Nuts, 5mm flanged nylon locking (steel, serrated) (8)
4147 Nuts, 5mm nylon locking (8)
3982 PTFE-coated 6x8x0.5 (10)
4987 Rings, retainer (snap rings) (14mm) (2)
5144 Screw pin, 2.5x18mm (6)
5145 Screw pin, 4x15mm (6)

3236 Screws, 2.5x12mm cap-head machine (6) .
3215 Screws, 2.5x6mm cap-head machine (hex drive) (6) $2.00
3965 Screws, 2.5x8mm cap-head machine (6)........ $2.50
5169 Screws, 2.6x8mm countersunk machine (6). $2.00
2674 Screws, 2x6mm roundhead self-tapping (6).... $1.50
2577 Screws, 3x10mm button-head machine (hex drive) (6) . $2.50
2587 Screws, 3x10mm cap-head machine (6) (no washer)

3159 Screws, 3x10mm caphead machine (hex drive) (6)/

lockwashers (6)/ heX WIeNCh.........cccceeiiiiiiiiiiiiiie e $2.75
2551 Screws, 3x10mm countersunk machine (6) (hex drive) $2.50
5282 Screws, 3x12mm button-head machine (6) (starter attachment

screws With Threadlock).........c.oovviiiiiiiiiiecc e
Screws, 3x12mm button-head machine (hex drive) (6)
Screws, 3x12mm countersunk machine (6) (hex drive).
Screws, 3x15mm button-head machine (hex drive) (6) .
Screws, 3x15mm cap-head machine (hex drive) (with split and flat
washers) (6)
Screws, 3x15mm countersunk machine (6) (hex drive)
Screws, 3x20mm button-head machine (hex drive) (6)

2578
2552
2579
5142

2553
2580
4978

Screws, 3x21mm button-head machine (hex drive) (partially
threaded, Revo brake DoItS) (6).........cccverrieiiiiiiiiieiiieeee e
Screws, 3x25mm button-head machine (hex drive) (6) ...................
Screws, 3x28mm cap-head machine (hex drive) (6)/ 3x6mm

2581
3963

2582
3964
2575
2554
2576
3936
3937
3938
3933
3940

Screws, 3x32mm cap-head machine (hex drive) (6)
Screws, 3x6mm button-head machine (hex drive) (6)
Screws, 3x6mm cap-head machine (hex drive) (6)
Screws, 3x8mm button-head machine (hex drive) (6)
Screws, 4x10mm button-head machine (hex drive) (6)
Screws, 4x12mm button-head machine (hex drive) (6)
Screws, 4x14mm button-head machine (hex drive) (6) .
Screws, 4x16mm button-head machine (hex drive) (6) .
Screws, 4x4mm button-head machine, aluminum (blue) (hex
drive) (6)
Screws, 4x6mm button-head machine (hex drive) (with
threadlock) (6)
Screws, set (grub) 4mm (6) (with threadlock)
Set (grub) screws, 3mm hardened (12)

3939

4897
2743

3966 Shoulder screws, 3x10mm (6) (with threadlock).............ccccveevieennne
5133A Spacer, pushrod (aluminum, blue) (use with 5318 or 5318X

pushrod and 5358 progressive 2 rockers) (8).........ccceevveeerveeenneens $5.00
5133 Spacer, pushrod (aluminum, red) (use with 5318 or 5318X

pushrod and 5358 progressive 2 rockers) (8) .............cccccoeevenn. $5.00

Motors & Electronics

Adapter, Traxxas connector female to Molex male (1) (Note:

3062

Molex connector not suitable for high current use) ................... $5.50
3061 Adapter, Traxxas connector male to Molex female (1) (Note:

Molex connector not suitable for high current use) ................... $5.00
3019R EVX-2 Electronic Speed Control (land version, fwd/rev).................. Call
5661 Motor mount hinge post/ 4x12mm BCS (1)/ 4x10mm CS with split

and flat Washer (1) ....c.ooviiiiiiiiee e
Motor mount, finned aluminum
Motor, Titan 550, reverse rotation (21-turns/ 14 volts) (1).
Motor, Titan 550 (21-turns/ 14 volts) (1)
Plate, motor (for single motor installation, use with gear cover
#5677X)
Traxxas Connector (female) (2)
Traxxas Connector (male) (2)
Traxxas Connector (male/female) (1

Radio System, batteries & charger
5526 Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools....
5526R Antenna crimp nut, aluminum (red-anodized)/ antenna nut
tools
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)

5660
3975R
3975
5690X

3080
3070
3060

$4.00

1726

2914 Battery, Power Cell AA Alkaline (4) ......ccocoevevieciecnnns

2922 Battery, Power Cell, 3000mAh (NiMH, 6-C flat, 7.2V) $34.99
2923 Battery, Power Cell, 3000mAh (NiMH, 7-C flat, 8.4V) ..... .. $39.99
2942 Battery, Series 3 Power Cell, 3300mAh (NiMH, 6-C flat, 7.2V).... $39.99
2940 Battery, Series 3 Power Cell, 3300mAh (NiMH, 7-C flat, 8.4V).... $45.99
2952 Battery, Series 4 Power Cell, 4200mAh (NiMH, 6-C flat, 7.2V).... $59.99
2950 Battery, Series 4 Power Cell, 4200mAh (NiMH, 7-C flat, 8.4V).... $69.99
2960 Battery, Series 5 Power Cell, 5000mAh (NiMH, 7-C flat, 8.4V) ... $74.99
2734 Cable ties (SMall) (10) ...eeieeiieiieeie et $2.00

REV. 130403 1515



Page 3 E-Revo: TQi 2.4GHz Radio (Model 5603) Parts List

2927
6541
6510

Charger, A/C, 350 mA (7 cell, NiMH)
Connector, power tap (with cable) (long)/ wire tie...
Docking base, TQi 2.4 GHz

transmitter (iPod/iPhone) (requires TQi radio system, part
#6508, 6509)
EVX-2 Electronic Speed Control (land version, fwd/rev) .................
Gear set (for 2065 waterproof sub-micro servo)
Gear set (for 2070, 2075 servos)
Mount, temperature sensor (electric motors)/ wire tie/ thermal
pad
Receiver, micro, TQi 2.4GHz with telemetry (5-channel).. .
Sensor, RPM (short)/ 3x4mm BCS (2) ....cccoeovvvviiiiniieeeeeeeeee
Sensor, temperature and voltage (Iong).......ccccoovvevriiiniieniieenns
Servo case/gaskets (for 2056 and 2075 waterproof servos) .. .
Servo case/gaskets (for 2065 waterproof sub-micro servo)......
Servo gears (for 2055, 2056 SEIVOS) ....cc.ceervrienieeenieeiireesnieeenins
Servo, digital high-torque (ball bearing), waterproof.. .
Servo, high-torque, waterproof (blue case)
Servo, sub-micro, Waterproof .........ccceeiieiiiiiiiiie e
Spacers (4)/ grip pads (3)/connector dust cover (1) (for TQi
AOCKING DASE)...ccuiiiiiiiicic e
Telemetry trigger magnet holders, spur gear/ magnet,

5x2mm (1)/ 3x8mm CCS (3)/ 3x10mm CCS (3)
Telemetry trigger magnet, 5X2mm (1)
TQi 2.4 GHz High Output radio system, 2-channel (2-ch.

transmitter & 5-Ch. r@CEIVET) .......c.uveeiiiiiiiiieciiec e $125.00
TQi 2.4 GHz High Output radio system, 4-channel (4-ch.

transmitter & 5-Ch. reCEeIVEr) .......cocviiiiiiiiiiciiic $150.00
TQi 2.4 GHz High Output radio system, 4-channel with

docking station (4-ch transmitter, 5-ch micro receiver,

dOCKING STAtION) ...iiiiiiicec e $200.00
Transmitter, TQi 2.4GHz high output, 2-channel (transmitter only) . $100.00

3019R
2064
2072
6535

6518
6522
6521
2074
2063
2053
2075
2056
2065
6544

6538

6540
6509

6508

6507

6513

Ready-To-Race Model

5603 E-Revo: 1/10-Scale 4WD Electric Racing Monster Truck with TQi

2.AGHZ radio SYSIEM .....ocviiiiiiiiieieeiee e $880.00

\ Rear Suspension
5334 Axle carriers, left & right (1 each) .. $8.00
5323 Bulkhead tie bars, front & rear (blue-anodized aluminum)............... $9.50
5323R Bulkhead tie bars, front & rear (red-anodized aluminum).......... $9.50
5329 Bulkhead, rear (L&R halves)/ diff retainer, rear/ 4x14mm BCS (2).. $15.00
5134 Caster spacers (4)/ Shims (4)....cccceeriiiiiieeiiee e $3.00
5339 Insert, threaded steel (replacement inserts for

Tubes) (includes (1) left and (1) right threaded insert)............... $5.00
5497 Linkage, rear sway bar (Revo/Slayer) (3x50mm

turnbuckle) (2) (assembled with rod ends, hollow balls and

DAl STUA). .. $12.00
5378X Pivot ball caps (4)/ dust boots, rubber (4)/ dust plugs, rubber (4)/

dust boot retainers, black (4), blue (4) (2 pkgs. req. to complete

EPUCK) e
4933 Pivot balls (4)/ pivot ball cap bushings (4)
4933X Pivot balls, hard-anodized 7075-T6 aluminum (4)/ pivot ball

CAP DUSHINGS (4) coeiiieiiie e
5319X Push rod (aluminum) (assembled with rod ends) (2) (red) (use

with #5359 progressive 3 roCkers).......ccocooveiieiiiiiiiieiiccceee $12.5
5318X Push rod (aluminum) (assembled with rod ends) (2) (use with

long travel or #5357 progressive-1rockers) ........cccccovvevveennennn.
5319 Push rod (steel) (assembled with rod ends) (2) (black) (use

with #5359 progressive 3 roCckers)........cccoovveiieiieiieiicceeceee $7.00
5318 Push rod (steel) (assembled with rod ends) (2) (use with long

travel or #5357 progressive-1 rockers)
5354X Rocker arm post (aluminum) (4)
5354 Rocker arm post (Steel) (2) .....covvvviiriiiiieiee e
5356 Rocker arm set, long travel (120-T) (use with #5318 or #5318X

PUSHIOA) ..o $8.00
5357 Rocker arm set, progressive-1 (90-T) (use with #5318 or

#5318X PUSHIOA) .. $8.00
5358 Rocker arm set, progressive-2 (90-T)/ spacers (red aluminum) (8). $11.00
5359 Rocker arm set, progressive-3 (90-T) (requires pushrods part

#5319 0F 53L9X)...ciiiiiiiiiiiieii e $8.00
5348 Rod ends, Revo (large, for rear toe link only) (4) ........cccoovevivernennn. $2.00
5133A Spacer, pushrod (aluminum, blue) (use with 5318 or 5318X

pushrod and 5358 progressive 2 rockers) (8)..........cccuvveriveriernennn. $5.00
5133 Spacer, pushrod (aluminum, red) (use with 5318 or 5318X

pushrod and 5358 progressive 2 rockers) (8).......ccccceevvrvurrnnenn. $5.00
5333R Suspension arm set, adjustable wheelbase (lengthens

wheelbase 10mm or 19mm) (suspension arm upper (2)/

suspension arm lower (2)/ bumper mount spacers (2)/

AXLEBCS (2)).rvieeieeniieiiiiieiieie ettt sttt $16.00
5333 Suspension arm upper (1)/ suspension arm lower (1) (rear, left or

FIGNE) s $7.50
5328 Suspension arms, adjustable wheelbase left side (upper

arm (1)/ 1ower arm (1)) .ooceeeeeeiieeeeie e $7.50

5327 Suspension arms, adjustable wheelbase right side (upper
arm (1)/ 1ower arm (1)) ....oocueerieiieiieieeesee e
Suspension pin set (front or rear, hardened steel), 3x20mm (4),
3x40mm (2) ...
Sway bar kit, Revo (front and rear) (includes thick and thin
sway bars and adjustable linkage) (requires part #5411 to
install rear DUMPET)........ooiiiiii e
Sway bar mounts (front & rear) (Revo)/ sway bar wires (front
& rear) (4)/ drill guide/ SPACEIS....cccuiviiiieeiieeeee s
5338A Toe links, Revo (Tubes 7075-T6 aluminum, black)(128mm, fits
front or rear) (2)/ rod ends, rear (4)/ rod ends, front (4)/
WEENCH (L) 1ttt
5338R Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum,
stronger than titanium) (128mm, fits front or rear) (2)/ rod
ends, rear (4)/ rod ends, front (4)/ aluminum wrench (1

5321

5498

5496

Body, GTR shock (hard-anodized, PTFE-coated aluminum) (1)......
Caps and spring retainers, GTR shock (upper cap (2)/ hollow

balls (2)/ bottom cap (2)/ upper retainer (2)/ lower retainer (2)) .......
Multi-tool (plastic) .
Nuts, 2.5mm nylon locking (12)
Rebuild kit, GTR shock (x-rings, bump stops, bladders all pistons,
piston nuts, shock rod ends) renews 2 shocks
Rod ends (GTR shocks) (6)
Shaft, GTR shock TiN-COated (2) ......ccuereeriieiieriieiieniieneeieesieeie

5465

5475
5158
5462

5469
5463T

5460X Shocks, GTR hard-anodized, PTFE-coated aluminum bodies with

TiN shafts (fully assembled w/o SPrings) (4) .......ccccervereeieeneinennne. $80.00
1666  Silicone ShoCK Oil (30 WE).......cveureiirierieirire et $2.00
5461 Variable damping kit, GTR shocks (includes #1, #2, #3

pistons and stainless steel valves)............cccvovvviiiiiniininennen,

Slipper Clutch Components
Flat wrench, 8mm (blue-anodized aluminum)
Input shaft/ drive gear assembly (18-tooth steel top gear)
Rebuild kit (heavy duty), slipper clutch (steel disc/ aluminum
friction pads (3)/ spring, Revo (1)/ spring, Maxx (1)/ 2x9.8mm

3992
5352R

pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) .ccooevvveeniieninneene $9.50
5352X Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring (2)/
2x9.8mm pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) .....ccn...e. $7.50

2554  Screws, 3x6mm cap-head machine (hex drive) (6) ...

Slipper pressure plate and hub (allo

5435
5436
5437
5438
5439
5440
5441
5442

Spring, shock (red) (GTR) (2.6 rate yellow) (1 pair) ..

Spring, shock (red) (GTR) (2.9 rate white) (1 pair)
Spring, shock (red) (GTR) (3.2 rate orange) (1 pair)
Spring, shock (red) (GTR) (3.5 rate green) (1 pair) ...
Spring, shock (red) (GTR) (3.8 rate gold) (1 pair)
Spring, shock (red) (GTR) (4.1 rate tan) (1 pair)

Spring, shock (red) (GTR) (4.4 rate black) (1 pair)
Sprlng shock (red) (GTR) (4.9 rate silver) (std. front 120mm) (1

Spur Gears & Pinion Gears
Gear, 12-T pinion (32-p) (mach. steel)/ set screw .
Gear, 13-T pinion (32-p) (mach. steel)/ set screw .
Gear, 14-T pinion (32-p) (mach. steel)/ set screw
Gear, 15-T pinion (32-p) (mach. steel)/ set screw
Gear, 16-T pinion (32-p) (mach. steel)/ set screw .
Gear, 17-T pinion (32-p) (mach. steel)/ set screw
Gear, 18-T pinion (32-p) (mach. steel)/ set screw
Gear, 19-T pinion (32-p) (mach. steel)/ set screw .
Gear, 20-T pinion (32-p) (mach. steel)/ set screw
Gear, 21-T pinion (32-p) (mach. steel)/ set screw
Gear, 22-T pinion (32-p) (mach.steel)/set screw ...
Screws, 3x6mm cap-head machine (hex drive) (6) ...

3942
3943
3944
3945
3946
3947
3948
3949
3950
3951
3952
2554

3956 Spur gear, 54-tooth (0.8 metric pitch, compatible with 32-

PIECR) o $3.00
3957 Spur gear, 56-tooth (0.8 metric pitch, compatible with 32-

PIECR) e $3.00
3958 Spur gear, 58-tooth (0.8 metric pitch, compatible with 32-

PIECR) e $3.00
3959 Spur gear, 62-tooth (0.8 metric pitch, compatible with 32-

PIECR) e $3.00
3960 Spur gear, 65-tooth (0.8 metric pitch, compatible with 32-

PIECR) o $3.00
3961 Spur gear, 68-tooth (0.8 metric pitch, compatible with 32-pitch)...... $3.00

REV. 130403 1515



Page 4 E-Revo: TQi 2.4GHz Radio (Model 5603) Parts List

\ Steering Components

5355X Hollow ball set, aluminum (30)/ tall centered hollow ball (2)/
tall offset hollow ball (2)/ bump steer adjustment shims;

3.5Mm (2), LI7MM (2) cooviiiiiiiiiiii i $29.50
5355 Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer

adjustment shims; 3.5mm (2), 2.27mMM (2)...c.ccovviiiniiiriiiiieneenns $4.75
5343X Mount, steering arm/ steering stops (2) (lower hinge pin

retainer) (includes standard and maximum throw steering stops) ...  $3.50
5469 Rod ends (GTR shocks) (6) $2.00
5347 Rod ends, Revo (large) with hollow balls (12) $9.00
5349 Rod ends, small, with hollow balls (6) (for Revo steering linkage)...  $4.00
5345X Servo horns, steering and throttle (for non-Traxxas

servos (Hitec, JR, KO, AIrtroniCs)) ....ccoiveeieeieereeieenieenieesieenieens $10.00
5345R Servo horns, steering, long (2), short (2)/ linkage,

steering (3x20mm turnbuckle) (2)/ rod ends (short) (4)/ hollow

DAIIS (4) ..ottt $6.25
5344X Servo saver spring, heavy duty (for use with metal-gear

SEBIVOS) .ottt ettt ettt $2.50

2075 Servo, digital high-torque (ball bearing), waterproof..
5338 Toe link, 5.0mm steel (front or rear) (2)
\ Suspension Linkage

5355X Hollow ball set, aluminum (30)/ tall centered hollow ball (2)/ tall
offset hollow ball (2)/ bump steer adjustment shims; 3.5mm (2),

LATIMM (2) 1ot $29.50
5355 Hollow ball, tall centered (2)/ tall offset hollow ball (2)/ bump steer

adjustment shims; 3.5mm (2), 1.27mMmM (2)...c.cccovroiiiiniiiinienees $4.75
5339 Insert, threaded steel (replacement inserts for

Tubes) (includes (1) left and (1) right threaded insert) .................... $5.00
5319X Push rod (aluminum) (assembled with rod ends) (2) (red) (use

with #5359 progressive 3 roCKers)......ccccoovveiieiiiiiinieecee e $12.50
5318X Push rod (aluminum) (assembled with rod ends) (2) (use with

long travel or #5357 progressive-1 rockers) ......cccoccveiiiieennnns $12.50
5319 Push rod (steel) (assembled with rod ends) (2) (black) (use

with #5359 progressive 3 roCKers)......ccccovveiiieiniiieniieeneeen $7.00

5318 Push rod (steel) (assembled with rod ends) (2) (use with long
travel or #5357 progressive-1 rockers)
Rod ends (GTR shocks) (6)
5347 Rod ends, Revo (large) with hollow balls (12)
5348 Rod ends, Revo (large, for rear toe link only) (4)
5345R Servo horns, steering, long (2), short (2)/ linkage,

steering (3x20mm turnbuckle) (2)/ rod ends (short) (4)/ hollow

5469

DAIIS (4) .ottt $6.25
5321 Suspension pin set (front or rear, hardened steel), 3x20mm (4),

BXAOMM (2) 1vetieieeie ettt ete e aneeneens $4.75
5338 Toe link, 5. Omm steel (front or rear) (2). . $10.00
5338A Toe links, Revo (Tubes 7075-T6 alummum black)(128mm flts

front or rear) (2)/ rod ends, rear (4)/ rod ends, front (4)/

(V=T a Lot T 6 TSRS $25.00

5338R Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum,
stronger than titanium) (128mm, fits front or rear) (2)/ rod
ends, rear (4)/ rod ends, front (4)/ aluminum wrench (1)...

Team Traxxas ltems
Decal sheet, racing sponsors
DVD, Maxx Power! Full Throttle Action (sleeve)
Official Team Traxxas racing decal set (flag logo/ 6-color)
Traxxas racing banner, red & black (3x7 feet

Tires & Wheels

2514
6160X

9950
9909

4147X Nuts, 5mm flanged nylon locking (aluminum, blue-

ANOAIZEA) (4) it $6.00
5147X Nuts, 5mm flanged nylon locking (steel, serrated) (8) ........c.c.c.c..... $3.50
4955  Pins, axle (2.5X12MM) (4) ..eeoueeiiiieieie e $1.00
5666 Sidewall protector, beadlock style (blue) (2)/ 2.5x8mm

CS (24) (for use with Geode Wheels) .......cccoccveiiiiiiiiiiiniecieee $7.00
5664 Sidewall protector, beadlock style (green) (2)/ 2.5x8mm

CS (24) (for use with Geode Wheels) ........cccccveiiieiiiiciiiieieee $7.00
5667 Sidewall protector, beadlock style (red) (2)/ 2.5x8mm

CS (24) (for use with Geode Wheels) ........ccccveeiiiiiniiciiiecieee $7.00
5665 Sidewall protector, beadlock style (yellow) (2)/ 2.5x8mm

CS (24) (for use with Geode Wheels) ........coccveiiiiiiiiciiiecieee $7.00
5374A Tires & wheels, assembled, glued (Gemini black chrome wheels,

Talon tires, foam iNSErts) (2) .......coovvierieeiiie e $40.00

5374X Tires & wheels, assembled, glued (Gemini black chrome
wheels, Talon tires, foam inserts) (2) (use with 17mm splined
wheel hubs & nuts, part #5353X)

5374 Tires & wheels, assembled, glued (Gemlm chrome wheels,

Talon tires, foam inserts) (2) (also fits Maxx series) ...........c...... $39.00
5674 Tires & wheels, assembled, glued (Geode chrome wheels,

Maxx tires (6.3" outer diameter), foam inserts) (2) (use with

17mm splined wheel hubs & nuts, part #5353X & beadlock-

style sidewall protectors, part #5665, 5666, 5667) ..............ccou. $41.00

4973R Tires & wheels, assembled, glued (Hurricane chrome wheels,
Maxx tires (6.3" outer diameter), foam inserts) (2) (fits
REVO/MAXX SEIES) ...eeiiuiiieaiiee it eeiteeesieee ettt
5174A Tires & wheels, assembled, glued (Split-Spoke satin-finish
wheels, Talon tires, foam inserts) (2) (fits Maxx w/sealed pivot
ball SUSPENSION & REVO).......ciiiiiiiiiiiciic e
4983A Tires & wheels, assembled, glued (SS (Split Spoke) black
chrome wheels, Maxx tires (6.3" outer diameter), foam
inserts) (2) (fits MaxX/ReVO SEIES) .......ccvvueeerieeiiiiieiieeeieee e
Tires & wheels, assembled, glued (SS (Split Spoke) chrome
wheels, Talon tires, foam inserts) (2) (fits Maxx/Revo series) ...
5174R Tires & wheels, assembled, glued (SS (Split Spoke) chrome
wheels, Talon tires, foam inserts) (2) (use w/17mm splined
wheel hubs & nuts, part #5353X) ......ccccvviiieiieiieiieeee e
5375R Tires & wheels, assembled, glued (white dished 3.8" wheels,
Response Pro tires, foam inserts) (2) (use with 177mm splined
wheel hubs and wheel nuts, part #5353X)
Tires, Canyon AT 3.8" (2)/ foam inserts (2) ..
Tires, Maxx 3.8" (6.3" outer diameter (160mm)) (2) (fits
Revo/Maxx series)
Tires, Maxx Chevron 3.8" (2) (fits Revo/Maxx series)

5174

5670
4973

5171

5375 Tires, Response Pro 3.8" (soft-compound, narrow profile,

short knobby design)/ foam iNSerts (2) .......ccooovervieeinieiiiieenies $32.00
5471 Tires, Response racing 3.8" (soft-compound, narrow profile,

short knobby design)/ foam iNSerts (2) .......ccoooeevvieeiiieiiiieeniees $30.00

5470 Tires, SportTraxx racing 3.8" (soft compound, directional and
asymmetrical tread design)/ foam inserts (2)
5370 Tires, Talon 3.8" (2)/ foam inserts (2).
4954R Wheel hubs, hex (steel)
4954X Wheel hubs, hex, 6061-T6 aluminum (blue) (4)/ axle

pins (2.5x10mm) (4)...
5353X Wheel hubs, splined, 17mm (b ue-anodized) (4)/ wheel nuts

splined, 17mm (blue-anodized) (4)/ screw pins, 4x13mm (with

ThreadloCK) (4) .o $25.00
5353G Wheel hubs, splined, 17mm (green-anodized) (4)/ wheel nuts,

splined, 17mm (blue-anodized) (4)/ screw pins, 4x13mm (with

threadIOCK) (4) vooveieeeeiee ettt $25.00

5353R Wheel hubs, splined, 17mm (red-anodized) (4)/ wheel nuts,
splined, 17mm (red-anodized) (4)/ screw pins, 4x13mm (with
threadlock) (4)

5353 Wheel nuts, splined, 17mm (blue-anodized) (4)

5353A Wheel nuts, splined, 17mm (green-anodized) (4) .....c.cccccvvvereenns
5371 Wheels, dished 3.8" (white) (2) (use with 17mm splined wheel

hubs and wheel nuts, part #5353X)........cccccceriviriiirieiiieiienieneens $12.00
5372A Wheels, Gemini 3.8" (black chrome) (2)........cccoovrerieiinninenicinens $12.00

5372X Wheels, Gemini 3.8" (black chrome) (2) (use with 177mm
splined wheel hubs & nuts, part #5353X) ........ccccceiieiniieiieeneennn.
Wheels, Gemini 3.8" (chrome) (2) (also fits Maxx series)
Wheels, Geode 3.8" (chrome) (2) (use with 17mm splined
wheel hubs & nuts, part #5353X & beadlock-style sidewall
protectors, part #5665, 5666, 5667)...........ccccccveiriiiiiiieiniienins
5373 Wheels, Hurricane 3.8" (chrome) (2) (also fits Maxx series)......
5172A Wheels, SS (split spoke) 3.8" (black chrome) (2) (use with
17mm splined wheel hubs & nuts, part #5353X) (fits
REVO/MAXX SEIES)...eeiiuiiiieiiiiiiiii ettt
5172X Wheels, SS (split spoke) 3.8" (chrome) (2) (fits Revo/Maxx
SEBIIES) ittt ettt
5172R Wheels, SS (split spoke) 3.8" (chrome) (2) (use with 17mm
splined wheel hubs & nuts, part #5353X) (fits Revo/Maxx
SEIIBS) ittt
Wheels, SS (split spoke) 3.8" (satin) (2) (fits Revo/Maxx
SEITS) ittt

Transmission Componen
Ball bearings (5x11x4mm) (2)....
Ball bearings (6x12X4mMm) (2).....ccccccervrrnnnne
Ball bearings, blue rubber sealed (5x11x4mm) (2).
Ball bearings, blue rubber sealed (6x12x4mm) (2)
Cover plates and seals, forward only conversion (Revo) (Optidrive
blank-out plate, Optidrive sensor cover, shift fork cover)
5677 Cover, gear/ 3x8mm CS (1)
5677R Cover, gear/ 3x8mm CS (1) (for single motor installation, use
with motor plate #5690X) ........ceiiuriiiiieeiiee e
3973 Gear set, close ratio (1st speed gear 21T, 18T input gear)
3974 Gear set, wide ratio (1st speed gear 26T, 13T input gear). .
3991X Gearbox halves (front & rear)/ shift detent ball/ spring/ 4mm GS/
shift shaft seal, glued/ 2.5x8mm CS (2)
3976 Idler gear, 13T (1st speed gear)
3996X Idler gear, 20-tooth/ idler gear shaft
3992 Input shaft/ drive gear assembly (18-tooth steel top gear)
5668 Linkage, shift (includes: ball collar, spring, ball cup, servo
horn, linkage wire)/ shift servo mount/ 3x8mm BCS (2)....
3984X Output gear, 33-t00th (1)/ SPACETS (2) ...eevvvvreriieiriiiiiirieeieenn .
3985X Output gears, 33T (2)/ drive dog carrier/ output shaft spacer....

5372
5671

5172

4611
4614
5116
5117
5157

$8.00

REV. 130403 1515



Page 5 E-Revo: TQi 2.4GHz Radio (Model 5603) Parts List

3969 Output shaft, tranSMISSION ........cceeiiiiiiiiiiie e $7.50
5690  PlAate, MOLOK . .uvviieeeieiiiiee e e eeciieee e st e e e e e e e e e e sarae e e e s e sanaeeeeeaenes $10.00
5690X Plate, motor (for single motor installation, use with gear

COVET HBBTTX) .ottt
3965 Screws, 2.5x8mm cap-head machine (6)

2552  Screws, 3x12mm countersunk machine (6) (hex drive)
3989X Shift fork/ shaft $5.50
1647 Silicone grease $2.00

5692 Two speed conversion kit (E-Revo) (includes wide and cIose
ratio first gear sets, sub-micro servo, and linkage) (Requires
3 channel transmitter

Turnbuckles & Threaded rods

5477 Flat wrench, 5mm (blue-anodized aluminum) .........ccccccevveiineinennnn. $4.00

5339 Insert, threaded steel (replacement inserts for

Tubes) (includes (1) left and (1) right threaded insert).... $5.00
5341 Linkage, steering (Revo 3.3) (3x50mm Turnbuckle) (2)/ rod

ends (short) (4)/ hollow BallS (4).......ccceoveiieiieiieiieiieieeeeceee $3.50
5319X Push rod (aluminum) (assembled with rod ends) (2) (red) (use

with #5359 progressive 3 roCkers)........cocooveiieniiiiiiiiiiecee $12.50
5318X Push rod (aluminum) (assembled with rod ends) (2) (use with

long travel or #5357 progressive-1 rockers) .. $12.50

5319 Push rod (steel) (assembled with rod ends) (2) (black) (use

with #5359 progressive 3 roCkers).......ccocooveiienieiieiiiiiccee $7.00
5318 Push rod (steel) (assembled with rod ends) (2) (use with long

travel or #5357 progressive-1 rockers)
5338 Toe link, 5.0mm steel (front or rear) (2)
5338A Toe links, Revo (Tubes 7075-T6 aluminum, black)(128mm, flts

front or rear) (2)/ rod ends, rear (4)/ rod ends, front (4)/

WIEENCH (L)1t iiee et $25.00
5338R Toe links, Revo (Tubes red-anodized, 7075-T6 aluminum,

stronger than titanium) (128mm, fits front or rear) (2)/ rod

ends, rear (4)/ rod ends, front (4)/ aluminum wrench (1)............ $25.00

If you have questions or need technical assistance, call Traxxas at:

1-888-TRAXXAS

(1-888-872-9927) (U.S. residents only)

For orders, calls outside the U.S., and other information, call 972-265-8000, or
fax to 972-265-8011 e-mail Traxxas at support@Traxxas.com

TRAXXAS.com

REV. 130403 1515



